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QUESTION 1

A new catalog item was added to an existing service named DMZServers, but it is NOT appearing in the catalog. All of
the other items in the service appear correctly.

Which of the following would explain this behavior?

A. The entitlement needs to be reactivated.

B. The catalog item still requires actions to be associated.

C. The catalog items were assigned to the entitlement individually.
D. There is an approval policy on the entitlement.

Correct Answer: C

Reference: https://pubs.vmware.com/vra-70/index.jsp?topic=%2Fcom.vmware.vrealize.automation.doc% 2FGUID-
F283E64D-9000-4129-82AC-6C1C95E36B6F.html

QUESTION 2

While attempting to create a nested blueprint, a software architect is unable to locate the child blueprint under Blueprints
in the Design Canvas.

What would be a possible reason for this?

A. The child blueprint is NOT entitled.

B. The child blueprint is created as a private blueprint.
C. The child blueprint is unpublished.

D. The child blueprint is NOT marked as a component.
Correct Answer: C

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.3/com.vmware.vra.prepare.use.doc/GUID-977883EC4C38-40A3-81F6-5DCA9C7866A4.html

QUESTION 3
What are two differences between blocking and non-blocking events? (Choose two.)

A. The return values from the vRealize Orchestrator workflow will be processed in blocking events and NOT in non-
blocking events.

B. vRealize Orchestrator workflows run is sequence, per request in blocking events and parallel in nonblocking events.

C. If vRealize Orchestrator workflow fails, both blocking and non-blocking events will fail.
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D. If vRealize Orchestrator workflow fails, blocking events will continue and non-blocking events will fail.
Correct Answer: AB

Reference: http://pubs.vmware.com/vrealize-automation-72/topic/com.vmware.|Cbase/PDF/
vrealize_automation_extensibility_migration.pdf (page 12)

QUESTION 4

Which approval level deploys a resource but withholds access until approval is granted?

A. The pre-request level

B. The pre-approval level

C. The post-approval level

D. The post-request level

Correct Answer: C

Reference: https://docs.vmware.com/en/vRealize-Automation/index.html#com.vmware.vrealize.automation.doc/GUID44
63B302-4365-4374-8954-7B582D34D41A.html?resultof=%2522%2570%2572%2565%2522%2520%%

202522%2561%2570% 2570%2572%256f%2576%2561%256¢%2522%2520%2522%2561%2570%
2570%%202572%256f%2576%2522%2520%2522%256¢%2565%2576%2565%256¢%2522%2520

QUESTION 5
A user\\'s computer is hardwired to the company network.

Which authentication method must an administrator use in accordance with the vRealize Automation Access Policy?

Network Range Device Tvpe Authentication Method Re-authenticate
VPN Web Browser SecurlD | Hour(s)
Internal Network All device types Certificate & Hour(s)

All Ranges Web Browser Adaptive Auth 4 Hour(s)
All Ranges Identity Manager Client App Password 2160 Hour(s)

A. A securelD code

B. A password

C. The Adaptive Authentication answers
D. A certificate must be on the computer
Correct Answer: D

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.4/com.vmware.vra.prepare.use.doc/GUID-18A5C46D32B8-48EC-891D-B0O55E52BE22F.html
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